3/4” X 1-1/27 X 13GAGE MIN.
16GA. GALV. STEEL
GALV. STEEL HORIZONTAL ANGLE. TOP BRACKET WITH

2" BGALV. STEEL N " 14GA. ROLLER HOLDER OPTIONAL SSB
HORIZONTAL TRACK 1/4" X 1/2” LONG SEE DETAIL D. GLASS LIGHTS

CARRIAGE BOLT & NUT :
_Awwmmmomzoﬂxmuim\_»%m_h @ USE EXTRA N ALTERNATE CONSTRUCTION

OF THE DOCR. / 1/4" X 3/4” : = STRUTS USING (2) STRUTS
\ HEX HEAD SELF vy
3" 20GA WIDE :
/ DRILLING SCREW / (SEE DETALL A) . OFTIONAL
. . i LONG PANEL
USE (2) 1/4" X 3/4
mﬁ z_ﬂ\z. s¢ m EMBOSSES

SHE REWS.

2" ROLLER WITH 7/16" DIA. SHORT STEM
2" 1BGA. GALV. STEEL ; TIRE: NYLON / (SEE DETALL <) \IoB_ozz. LOCK
VERTICAL TRACK BOLTED i

13 GAGE MIN. GALV. STEEL Hw»@,%xx mm@%wﬂmw%f , 4" X 16" AIR VENTS

TRACK SPLICE OR FLAG BRAGKET. 2) REQ'D.
FASTEN TO WOOD JAME Wt ~ ] BOLTS. wmw s0. )
5/16" X 1-1/2" LAG SCREWS. OTAL OPEN AREA)

DETAIL D OPTIONAL.

Ko>o_mo>_.<.mﬁmm_.mzo @
HINGES ATTACHED WITH (SINGLE CAR)
(5) SCREWS TYP. (SEE DETAIL C). NOTE: DOOR MUST BE INSTALLED CENTER STILES & CENTER
WITH EITHER AN ELECTRIC OPERATOR HINGES {1 COLUMN)
OR A LOGK (MUST ENGAGE BOTH

QPENING HEIGHT TRACKS ON DOORS WITH EXTENSION
(NOT OVER THIS STRUT ON SPRINGS).

DACR HEIGHT) p HINGE LEAF.
mw_mm DETAIL C). RAILS
THER STRUTS IN
MIDDLE OF TOP
& BOTTOM SECTIONS. USE ONE
EXTRA SELF DRILLING
SCREW THROUGH 20 GAGE END STILES
SILES AND BALS.
" GALVANIZED STEEL STRUT. -
d\N POLYSTYRENE ATTACHED WITH ._\A.x X Q\A.x TYP. PER EACH
INSULATION LONG HEX HEAD SELF END HINGE. ————
STANDARD FOR DRILLING SCREWS.
MODEL 735 (2 PER VERTICAL STILE)
2 BRACKETS EACH SIDE SRTUT REF.

m@ | , #2 SECTION /

||_ _' 1.25"

5]

20 GAGE END STILES — FASTENED 21 PANEL
WITH TOG—L—LOCS TO PANEL oAy NG
STOP MOULDING NAILED EVERY 12" PREPAINTED STEEL

) K¢ N 25 GA. FOR ALL
“ 6-D TYPE NAIL MIN. MODELS EXCEPT

& I N 24 GA. MODEL

= _ _v 750, 755.

18 GAGE GALV. STEEL GENTER HINGE 20 GAGE GALV. STEEL
CENTER STILE

10 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE _ )
SPACING.  FASTEN TO WOOD JAMBS WITH 5/16% X 1-1/2" SECTION _A—A T G D O T TN oM PACT __.I_l 1 WOMO_ @ VA m
LAG SCREWS. PREPARATION OF JAMBS BY OTHERS. Q

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE

SECTION B—B 1/4"-20 X 5/8" HEX BOLTS & NUTS QR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. oo, BoxX 8915

A\

\\\\\\ z ANNRNANNN

by S NN\ wuuN

1-3/8” POLYSTYRENE A

INSULATION OPTIONAL 3 DETAIL C

FOR MQD. 724, 73Q,

750, 426 & 755.

\_uo>0mo>_.<,m._.mm_umo._|_.ozw_&pox_m._. ..
ATTACHED WITH 2 FASTENERS _I|M.w_r..v ||_
BOTTOM SCREW CAN BE ABQOVE OR DETAIL A

({
\

BELOW ROLLER 5" 20CA WIOE STRUT

P.S.F. TABLE

DOOR SIZE | DESIGN PRESSURE | TEST PRESSURE S!:—vmea DOOR wwﬂxwlm%@m_w AR

WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE (501) 562-1872
9'—0"7'=0"|+22.9 |-26.4 |+34.4 |-39.6

MODELS:

724, 426, 730, 735, 750, 755

PART NAME:

WINDLOAD RESIDENTIAL PAN DOOR
3791 FAIRGATE DR — [12/15/11] RLB W2 B
Carrollton, TX 75007 u\\_ O\Om RLB

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES TN RE 295082203 11/1/07 | RLB NEXT LEVEL DATE:- DWG. NO

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05. (972) 492—9500 M\MN\ON
Professional Enginoer’s seal 3—8-07 RLB 99—-B-080

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. ided only f ification of DRN. BY
Windload construction detdrs. DATE  |APPROV. PLOT SCALE BH SHEET 1 OF 6




2" GALV. STEEL n "
1/4" X 1/2" LONG 16GA. GALV. STEEL

ﬂ % xmwm_mqwf ﬂm wom%m, CARRIAGE BOLT & NUT TOP BRACKET WITH
BASED ON THE WEIGHT {ww mxx uﬁ\&_ 14GA. ROLLER HOLDER. OPTIONAL S5B

OF THE DOOR. HEX HEAD SELF SEE DETAIL D. Py GLASS LIGHTS

DRILLING SCREW _ ALTERNATE CONSTRUCTION
A USING (2) STRUTS

SSEEF MeTL ScRes. _
3/4" X 1-1/2" X 13GAGE MIN. . / 3" . momm__%z%»zmr
GALV. STEEL HORIZONTAL ANGLE. 4 STRUTS
: EMBOSSES

: " v 3" 20GA WIDE
" 2” ROLLER WITH 7/16

13 GAGE MIN. GALV. STEEL : DIA. SHORT STEM. (SEE DETAIL A)
TRACK SPLICE OR FLAG BRACKET. . »
PR ST oo T B _ TIRE: 7 BALL STEEL — 275" —]
5/16" X 1—1/2" LAG SCREWS. DETAIL A

LEITAIL B
3" 20GA WIDE STRUT i

DETAIL D

2" GALV. STEEL - p NOTE: DOOR MUST BE INSTALLED —
VERTICAL TRACK S WITH EITHER AN ELECTRIC OPERATOR
Lo

™\ OPTIONAL LOCK

16GA. i OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION
SPRINGS).

OPENING Aw_zorm CAR)
HEIGHT b 4" X 16" AIR VENTS CENTER STILES & CENTER

ﬁzoﬁo<mm mmoo
DOOR 7 w SQ. IN. MIN. HINGES (1 COLUMN)

HEIGHT) 14 GAGE GALV. STEEL OTAL OPEN AREA)
COMMERCIAL OPTIONAL. 20 GAGE END CAP
END HINGE ATTACHED

m_mmx %ﬂwmm@m. 20 GAGE END STILES

3 BRACKETS EACH
SIDE  COMMERCIAL 1/2” POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4

LONG HEX HEAD SELF
20 GAGE END STILES — FASTENED DRILLING SCREWS

WITH TOG—L—LOCS TO PANEL - > -
USE END CAP OVER END STILES. {2 PER VERTICAL STILE)

(SEE DETAIL C) 1-3/8" POLYSTYRENE L.H. DETAIL C
STOP MOULDING NAILED EVERY 127 ; INSULATION OPTIONAL = <
6—D TYPE NAIL MIN. 24" HIGH FOR MCD. 724, 730, 750, USE ONE EXTRA SELF DRILLING SCREW
PANEL. GALV. 755, 426. THROUGH TOP LEAF OF HINGE, END
AND PRE— K STILE, CAP AND RAIL.

PAINTED STEEL TYPICAL EACH END HINGE.

25 GA. ALL “

MODELS EXCEPT
24 GA. MODEL /
750, 755. 13GA. GALV. STEEL
18 GAGE GALV. STEEL CENTER HINGE ; BOTTOM BRACKET

! ATTACHED WITH 2
RESIDENTIAL, ATTACHED WITH 4 FASTENERS. FASTENERS.

NOTE: GLAZING DOES NOT SATISFY IMPACT
20 GAGE GALV. STEEL CENTER STILE
e Ol S— SECTION A—A DEBRIS REQUIREMENTS IN FBC IFL 15080 @ VA m

TO PANELS. NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"-20 X 5/8" HEX BOLTS & NUTS OR
1/4" X 3/4 LONG HEX HEAD SHEET METAL SCREWS.

10 GAGE GALV. STEEL TRACK BRACKETS, SEE >wov\m FOR ockvzi m_%ﬁ._.mwwm%xﬁwm
AND SPACING.  FASTEN TO WQOD JAMBS WITH 5/16" X 1—1/2" .
IND STAGHS. " FASTEN, 10 oo s Wi 5/ W wiNDsoR DOOR| 1)

(501) 562—1872

P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE TEST PRESSURE
WIDTH L_ HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE MODELS:

@ulou.m.|02 +NN,@ |M@.Av |_|UAv,Lv |U©.© VMLJ Lvm@a ﬂuo_ Vumv V@Og V@w

PART NAME:

WINDLOAD RESIDENTIAL PAN DOOR

5731 FARGATE DF, — [12/15/11] RLB W2 B

Carrollton, TX 75007 u\\_ O\Om RLB
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES .__.“V_M __”uvm wmmwww F-2205 4‘_\‘_\Ow RLB NEXT LEVEL DATE: _u<<® ZO

LISTED IN THE TABLE ABOVE VIA TESTING TO >Zw_\_u>wz_> 108-05. Awwmu 482-9500
3_8-07 | RLB 2/27/07 | 99-B-080

Professional Enginesr’s seal
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. rovided only for verification of DRN. BY
ﬂ..:a"ooa oowm:enﬁ._o:_ details. .C.N. DATE APPROV. PLOT SCALE BH SHEET 2 OF ¢




ALTERNATE CONSTRUCTION

3/47 X 1—1/2" X 13GAGE MIN.
168 GAGE GALV. STEEL TOP BRACKET OPTIONAL SSB USING {2) STRUTS

GALV. STEEL HORIZONTAL ANGLE. 1747 X 1/2" LONG WITH 14 GAGE ROLLER HOLDER OPTIDNAL SSE
CARRIAGE BOLT & NUT SEE DETAIL D.

2” GALV. STEEL USE EXTRA
HORIZONTAL TRACK 1/4" X 3/47 : ; ; |

16 GAGE OR 13 GAGE HEX HEAD SELF , ;u|m:ﬁ:m - . m%m_%z%_%z_mr
BASED ON THE WEIGHT DRILLING SCREW / . 3" 20 GA WIDE ! EMBOSSES
OF THE DOOCR. (SEE DETAIL A)

» "
) Mmmm%mw\_m >M wvmwuéw. H STRUT ON UPPER PART OF
13 GAGE MIN. GALV. STEEL TRACK SPLICE : SECTION BELOW ROLLER.
OR FLAG BRACKET. FASTEN TO WOAQD CARRIER.
JAMB WITH 5/16% X 1-1/2" LAG SCREWS g

2" ROLLER WITH 7/16” DIA.
LONG STEM. N oPTioNAL LoCK

TIRE: STEEL 10 BALL

/m; 16 GAGE GALV. STEEL

VERTICAL TRAGK \
— DETAIL A 10" (SINGLE CAR)

3" 20GA WIDE STRUT 4" X 16" AIR VENTS CENTER STILES & HINGES
w& REQ'D. (2 CDLUMNS)

NOTE: DAOR MUST BE INSTALLED 60 SQ. IN. MIN. NOTE: IF OPTIONAL 4 EMBOSSES
STRUT ON UPPER PART OF :
SECTION ON HINGE LEAF. WITH EITHER AN ELECTRIC OPERATOR OTAL GPEN AREA) ARE SUPPLIED, 3 COLUMNS QF
QR A LOCK (MUST ENGAGE BOTH OPTIONAL. CENTER STILES ARE REQUIRED.

SEE DETAL E ‘ SEE DETAL C. TRACKS ON DOORS WITH EXTENSION
SPRINGS). 20 GAGE
mzoﬂ_rmm

DPENING
' 14 GAGE GALV. STEEL END HINGE
{COMMERCIAL) ATTACHED WITH (5)

&
DETAIL E ANN@ . SCREWS.  SEE DETAIL C. USE ONE EXTRA SELF
== = DRILLING SCREW THROUGH RAIL

TOP LEAF OF HINGE,
3 BRACKETS EACH SIDE : END STILE & RAIL.
= TYPICAL EACH END HINGE

STRUT ON UPPER PART OF
SECTION ON HINGE LEAF.
SEE DEATAIL C.

HEIGHT)

1/2" POLYSTYRENE
INSULATION GALVANIZED STEEL STRUT.
STANDARD FOR _ ATTACHED WITH 1/4" X 3/4" 20GA. END CAPS:
MODEL 735 LONG HEX HEAD SELF
DRILLING SCREWS.
(2 PER VERTICAL STILE)

20 GAGE END STILES — FASTENED ( STRUT ON UPPER PART OF
WITH TOG—L—LOCS TO PANEL. : SECTION ON HINGE LEAF
USE END CAP OVER END STILES. 21" R 24" _ SEE DEATAL C.

(SEE DETAIL B) .
HIGH PANEL. GALV. 1-3/8” POLYSTYRENE INSULATION

STOP MOULDING NAILED EVERY 9" AND PREPAINTED
6—D TYPE NAIL MIN. . STEEL 25 GAGE ALL mm_um_o_www _qmw@ MOD. 724, 730,
e : : MODELS EXCEPT : ’ )

NA@»OmiODm_.
750, 755. / STRUT ON BOTTOM BRACKET

10 X 7

(RESIDENTIALY, ATTACHED WITH 4 PASTENERS
, £ / 13 GAGE GALV. STEEL BOTTOM BRACKET Um|_|>__l O

20 GAGE GALV. STEEL CENTER STILE. ATTACHED E—
WITH T0G-L-LOC OR POP RIVETS TO PANELS. v BOTIOM SCRIW CAN BE ABOVE OR 10 X 8
13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE SECTION A—A  BELOW ROLLER. NOTE DEBRIS. REGUREMENTS N FBET IFL 15080

FOR SPACING. FASTEN TO WQOD JAMBS WITH 5/16" X 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

SEE DETAIL E.
SECTION B—B P.0. BOX 8915

NQOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
e e e S W wEnDsOR DOOR | 777 2

DOOR SIZE DESIGN PRESSURE | TEST PRESSURE 1/4" X 3/4” LONG HEX HEAD SHEET METAL SCREWS.
WIDTH | HEIGHT |POSITIVE | NEGATVE | POSITIVE | NEGATIVE (501) 562—1872

10'=07|7"-0"|+27.0|—30.5 | +40.5 |-45.8 ——
10°—07|8'-Q"|+27.0|—30.5 | +40.5|-45.8 704, 426, 730, 735, 750, 755

PART NAME:
WINDLOAD RESIDENTIAL PAN DOOR

John E Scates PE —
3121 FARGATE DR, 12/15/11| RLB W2 B
arroliton,

DOORS SHOWN ON THIS DRAWING_HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES |$grliton: IX 29007 3/10/08 | RLB

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05. _pE_ -
(575 3855500 11/1/07 | RLB NEXT LEVEL [ pate [ DWG. NO.
5—8-07 RLB 99-B—080

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. [professional Engineer's sed
provided only for verification of PLOT SCALE DRN. BY
_ " deto DATE  |APPROV. BH SHEET 3 OF 6

windload construction details.




3/4" X 1—=1/2" X 13GAGE MIN. . . CENTER STILES
1/4” X 1/2" LONG 16GA. GALV. STEEL OPTIONAL SSB (5 COLUMNS) DORaTS STAUTS JCTION

GALV. STEEL HORIZONTAL ANGLE.
\/ GALV. STEEL CARRIAGE BOLT & NUT TOP BRACKET WITH GLASS LIGHTS CENTER HINGES

HORIZONTAL TRACK USE EXTRA 14CA. ROLLER HOLDER (3 CALUMNS)

16 GAGE OR 13 GAGE 1/4" X 3/4 SEE DETAIL D 5 STRUTS

BASED ON THE WEIGHT HEX HEAD SELF . 3” 18GA WIDE

OF THE DOOR. DRILLING SCREW (SEE DETAIL A) R ! . . OPTIONAL
|

. 3 1/4"X 3/4 LONG HEX HEAD SELF e —— | —— 4 —— | —— J —— \—— LONG PANEL
y  USE (2) 1/4” X 3/4 om_F_zo\m%msw. i EMBOSSES
SHEET METAL SCREWS. (2 PER VERTICAL STILE) ]

13 GAGE MIN. GALV. STEEL

TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH STRUT JUST BELOW TOP FIXTURE.

5/16” X 1-1/2"LAG SCREWS.

. 2" ROLLER WITH 7/16" DIA. LONG STEM. P
\N 16 GAGE GALV. STEEL TIRE: STEEL 10 BALL. — - —_— —_

VERTICAL TRACK BOLTED ;

qoqm\yoxmm%xﬂwé:z
1/4"—20 X 5/8" TRACK BOLTS. _HE

SEE DETAIL C OPTIONAL LOCK

|
FINGE. (COMMERGIAL) ATTAGHED WITH NOTE: DOOR MUST BE INSTALLED
(5) SCREWS. SEE DETAL C. USE ONE EXTRA SELF W, OR A LOCK (MUST ENGAGE BOTH
DRICLING STREW THROUGH OTAL OPEN AREA) 20 GAGE END CAP TRACKS ON DOORS WITH EXTENSION
OPENING HEIGHT - STRUT ON_UPPER END STILE & RAIL OPTIONAL. SPRINGS).

DOOR HEIGHT) SEE DETAL E m_mm Im__mm\m__._.m%ﬂ.
/- |v_ |— 1.25”

GALVANIZED STEEL STRUT. )

ATTACHED WITH 1/4" X 3/4°
LONG HEX HEAD SELF
DRILLING SCREWS. 3"
(2 PER VERTICAL STILE) ; /

DETAIL E ,. AR _

275" —-

3 BRACKETS EACH SIDE 1 /2" POLYSTYRENE STRUT ON_UPPER ,, DETAIL A

mx
INSULATION STANDARD _ ON HINGE LEAF. X
I FOR MODEL 735 _ SEE DETAIL € USE LONG STEM 3" 18GA WIDE STRUT

20 GAGE END STILES — FASTENED 10 BALL ROLLERS.
WITH TOG—L—LOCS TO PANEL.

USE END CAP OVER END STILES.

(SEE DETAIL B)

§ LH.
»\\\ \ STOP MQOULDING NAILED EVERY 9" N 21" HIGH PANEL

6—D TYPE NAIL MIN. CALV. AND ' 1-3/8" POLYSTYRENE INSULATION
N OPTIONAL FOR MOD. 724, 730,
' ﬁ PREPAINTED STEEL |, s Fabe. DETAIL C

25 GAGE FOR ALL [/

MODELS EXCEPT

24 GAGE MODEL g STRUT ON BQTTOM BRACKET
750, 755.

20 GAGE GALV. STEEL :
18 GAGE GALV. STEEL CENTER HINGE CENTER STILE \4 @ X w

mmm_omzq_z.,
NOTE: GLAZING DOES NOT SATISFY IMPACT

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE , 13 GAGE GALV. STEEL BOTTOM BRACKET DEBRIS REQUIREMENTS IN FBC __||_| 1 @O@O_
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/18" X 1-1/2" ATTACHED WITH 2 FASTENERS

LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. wojozwoxm<<0>zmm>mo<mo_~
SEE DETALL E. SECTION A—A  BELOW ROLLER.

SECTION B-—B P.0. BOX 8915

NQTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
P.S.F. TABLE 1/4"-20 X 5/8" HEX BOLTS & NUTS OR WINDSOR DOOR LITTLE ROCK, AR
DOOR_SIZE DESIGN_PRESSURE | TEST PRESSURE 1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. 79019—8915
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE (501) 562-1872

‘_®‘|O:V~|Ovv n_lNM.N |Nwo l_luu.u |Mﬂm 7\_O_Um_lm
724, 426, 730, 735, 750, /55

PART NAME:
WINDLOAD RESIDENTIAL PAN DOOR

T FARGATE DR, — [12/15/11 | RLB W2 B

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES |39 RE %k 208 5303 3/10/08 | RLB

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05. FL—PE—51737 11/1/07 | RLB NEXT LEVEL DATE: DWG. NO

(972) 492-9500
3-8-07 | RLB 2/27/07 99—-B—080

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. |Professional Engineer's sedl
provided only for verification of PLOT SCALE DRN. BY

windload construction details. .C.N. DATE APPRQOV. BH SHEET 4 OF 6




"X 1—=1/2" OPTIONAL SSB ALTERNATE CONSTRUCTION
S X L SCHGE M 1/4" X 1/2" LONG 16CA. GALV. STEEL GLASS LIGHTS USING (2) STRUTS

GALV. STEEL HORIZONTAL ANGLE. TOP BRACKET WITH
CARRIAGE BOLT & NUT 14GA. ROLLER HOLDER. i : 7

2" GALV. STEEL Cmmmxj«, mﬂxSw . .
\\ HORIZONTAL TRACK n_mm IM>W\M.m¥ SEE DETAIL D. 3" 18GA s_oM/
m v 16 GAGE OR 13 GAGE
}  BASED ON THE WEIGHT DRILLING SCREW STRUT JUST_BELOW (SEE DETAIL A)
TOP FIXTURE.
2” GALV. STEEL ~ N\ =

{  OF THE DOOR. ,
" ” m
USE (2) 1/4" X 3/4
B
]
_ |
| m_
]
VERTICAL TRACK A/ . o= _Ll
16GA.
- |- 1.25" 16" (DOUBLE CAR) |

13 GAGE MIN. GALV. STEEL SHEET METAL SCREWS.
SEE DETALL E DETAIL D " ”
- —= = 14 GAGE GALV. STEEL END A 4K a8 AR VENTS OPTIONAL

OPTIONAL _.OQAl/,m

P

&
5/16" X 1-1/2" LAG SCREWS, : 2" ROLLER WITH 7/16" DIA. SEE DETAIL C ﬁ,\,
~O

LONG STEM.

TIRE: STEEL 10 BALL

._.m>o_Aw_u_._Qmo_»_u_.>omm>ox_m._.. |.
FASTEN TO WOOD JAMB WITH

HINGE ATTACHED WITH (B) LONG PANEL
SCREWS. 5SEE DETAIL C. EMBOSSES
(COMMERCIAL) 3" CENTER STILES mw COLUMNS
CENTER HINGES (3) COLUMNS 20 GAGE

m%SoZBsmm END STILES
OPENING PART OF SECTION USE TWO EXTRA SELF
_ ABOVE HINGE LEAF. DRILLING SCREWS THROUGH
_m_Zm%Iwﬁm — _ _ TOP & BOTTOM LEAVES OF
2.75" HINGE, END STILE & RAIL
STRUT ON UPPER _ _ HINGE, BN

DOO_u/v
HEIGHT) , N NGE oA DETAIL A TYPICAL EACH END HINGE.

SEE DETAIL C

3" 18GA WIDE STRUT

STRUT ON LOWER » B
2" ROLLER WITH 7/16" DIA.
PART OF SECTION LONG. STEM.

ABOVE HINGE LEAF.

& TIRE: STEEL 10 BALL
DETAIL E AN@ 1/2” POLYSTYRENE 1/ 16GA. END CAP. DETAIL B

INSULATION
STANDARD FOR

MGDEL 735
3 BRACKETS EACH SIDE GALVANIZED STEEL STRUT.
ATTACHED WITH A\#: X ,u\#_.
LONG HEX HEAD SELF
20 GAGE END STILES — FASTENED DRILLING SCREWS. NOTE: DOOR MUST BE INSTALLED

\\ WITH TOG—L—LOCS TO PANEL. (2 PER VERTICAL STILE) // %Mﬂ mr_w_mmxm m,,\__,r__ mm:m%_q%\_,mmom%nﬂ%

USE END CAP OVER END STILES. ) 7
1-3/8" POLYSTYRENE INSULATION m>__.mV TRACKS ON DOORS WITH EXTENSION

(SEE DETAIL B) "
» 24" HIGH PANEL. GALV.
STOP MOULDING NAILED EVERY 9 AN AND PREPAINTED WMA._U._OMW_W _uMVM_u@ MOD. 724, 730, SPRINGS).

6-D TYPE NALL MIN. - STEEL 25 GAGE ALL
MODELS EXCEPT
\ ﬁ 24 GAGE MODEL
' e ; DETAIL C

13 GAGE GALV. STEEL BOTTOM BRACKET
18 GAGE GALV. STEEL CENTER HINGE [ ATTACHED WITH 3 FASTENERS.
ATTACHED WITH 4 FASTENERS. (RESIDENTIAL) ] \4 @ X m
NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC IFL 15080

L.H.

20 GAGE GALV. STEEL CENTER STILE. ATTACHED
WITH TOG—L-LOC OR POP RIVETS TO PANELS. SECTION A-—A

13 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE
FOR SPACING, FASTEN TO WOOD JAMBS WITH 5/16” X 1-1/2" NOTE: »vwxmwﬂummmmm__._uu% I TNERS roWs, 10 BE
LAG SCREWS & WASHERS. PREPARATIDON OF JAMBS BY OTHERS. 174" X 374" LONG HEX HEAD SHEET METAL SCREWS. P.O. BOX 8915

SEE DETAIL E. —
oLLTION B=P W wEnDsOR DOOR| 205

P.S.F. TABLE (501) 562-1872

DOOR SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
MODELS:

16 -0718'—0"+22.2 | —25.0 | +33.3 |[—37.5 724, 426, 730, 735, 750, 755

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES PART NAME:
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05. WINDLOAD RESIDENTIAL PAN DOOR

dohn E Scates PE
—_— RLB
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. [2121 FAIRGATE DR, 12/15/11 e B
Carrollton, TX 75007 3/10/08 | RLB

TX—PE 56308-F—2203
FL—PE-51737 11/1/07 | RLB NEXT LEVEL DATE: DWG. NO.

(572) 492-9500
3-8-07 | RLB 2/27/907 99—-B—080

Professional Engineer’'s seal

ided ly f ificati f
provided only for yerification o DATE  |APPROV. PLOT SCALE | DRN. BY  "SHEET 5 oF 6




3/4” X 1—=1/2" X 13 GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE.
BASED ON THE WEIGHT
OF THE DOQR.

1/47 X 3/47
SHEET METAL
SCREWS

13 GAGE MIN., GALV. STEEL TRACK SPLICE

OR FLAG BRACKET. FASTEN TO WOCOD

JAMB WITH 5/16" X 1-1/2" LAG SCREWS

-— 2" 13 GAGE GALV. STEEL
VERTICAL TRACK

SEE DETAIL E 74" (16 X 8)

63" (16 X 7)

OPENING
HEIGHT
(NOT OVER
DOOR
HEIGHT)

(3) 1/4" CARRIAGE BOLTS

EXTRA
1/4" X 3/4"

HEX HEAD SELF
DRILLING SCREW

DETAIL D

DETAIL E g

_w BRACKETS EACH w_om_

24" (16 X 8)
21" (16 X 7)

20 GAGE END STILES — FASTENED
WITH TOG-L—LOCS TO PANEL.
USE END CAP OVER END STILES.
(SEE DETAIL B)

STOP MOULDING NAILED EVERY 6"
6—D TYPE NAIL MIN.

1/2" POLYSTYRENE
INSULATION
STANDARD FOR
MCDEL 735

18 GAGE GALV. STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS. (RESIDENTIAL)

20 GAGE GALV. STEEL CENTER STILE. ATTACHED
WITH TOG—-L-LOC QR POP RIVETS TO PANELS.

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE
FOR SPACING.

LAG SCREWS & WASHERS.

SEE DETAL E.
SECTION B-B

P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE
WIDTH HEIGHT | POSITIVE | NEGATIVE

18°=07|7°-0"+26.0 |—29.1
18’078 -0"|+26.0 |—29.1

TEST PRESSURE
POSITIVE | NEGATIVE

+39.0 |—43.7
+39.0 |—43.7

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES

21" & 24",
HIGH PANEL. GALV.

FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"
PREPARATION OF JAMBS BY OTHERS.

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE

IS THE RESPONSIBILITY OF OTHERS.

AND PREPAINTED
STEEL 25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL
750, 755.

SECTION A—A

1/4"-20 X 5/8" HEX BOLTS & NUTS OR
1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

John E Scates PE
3121 FAIRGATE DR,
Carrollton, TX 75007
TX—-PE 56308—F-2203
FL-PE-51737

(972) 492-9500

Professional Engineer’s seal
provided anly for verification of
windload construction details.

13 GAGE GALV. STEEL TOP BRACKET
WITH 10 GAGE ROLLER HOLDER
NOTE THAT ROLLER HCLDER

CURL IS TURNED DOWN.

SEE DETAIL D

OPTIONAL SSB
GLASS LIGHTS

ALTERNATE CONSTRUCTION
USING (2) STRUTS

STRUT JUST BELOW
TOP FIXTURE.

B _STRUTS

QPTIONAL
L LONG PANEL

3" 18GA WIDE
STRUT ON LOWER PART (SEE DETAIL A)
OF SECTION ABQOVE HINGE

LEAF.

EMBOSSES

7' & 8

B

2® HURRICANE ROLLER WITH
7/16" DIA. LONG STEM.
TIRE: STEEL 10 BALL

STRUT ON UPPER PART OF

SEE DETAIL C——

™S OPTIONAL LOCK

SECTION ON HINGE LEAF,

&

SEE DETAIL C.

STRUT ON LOWER PART
m__uuz.lmmo._._oZ ABOVE HINGE

II_

14 GAGE GALV. STEEL END
HINGE (COMMERCIAL) ATTACHED WITH (8)
SCREWS. SEE DETALL C.

3

—— 2.75" If

DETAIL A

18GA WIDE STRUT

STRUT ON LOWER PART
WMZ..mmO._._oZ ABOVE HINGE

STRUT ON UPPER PART QF
SECTION ON HINGE LEAF.
SEE DETAIL C.

3=

HURRICANE ROLLERS
(LONG STEM MADE WITH

CALVANIZED STEEL STRUT. HIGH STRENGTH STEEL)

ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

1—3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730,
750, 755, 426.

STRUT ON BOTTOM BRACKET.

4" X 168" AIR VENTS

120 3Q.
OTAL OFEN AREA)
OPTIONAL.

USE TWO EXTRA SELF

18" (DOUBLE CAR) _

CENTER STILES (7 COLUMNS)
CENTER HINGES {3 COLUMNS)

20 GAGE
END STILES

DRILLING SCREW THRQUGH
HINGE, END STILE & RAIL

AS SHOWN.

TYPICAL EACH END HINGE

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR

OR A LOCK (MUST ENGAGE BQTH

L.H.

DETAIL C

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS.

DEBRIS REQUI

GLAZING DOES NOT SATISFY

REMENTS IN FBC

IMPACT

TRACKS ON DQORS WITH EXTENSION
SPRINGS).

18 X/

18 X 8

IFL 15080

P.0. BOX 8915
LITTLE ROCK, AR
72219-8915

(501) 562-1872

MODELS:
724, 426, 730, 735, 750, 755

12/15/11

RLB

PART NAME:
WINDLOAD RESIDENTIAL PAN DOOR

3/10/08

RLB

11,/1,/07

RLB

5—8-07

RLB

W2 B

NEXT LEVEL DATE:

2 P07 DWG. NO.

99-B-080

DATE

APPROV.

DRN. BY

PLOT SCALE SHEET 6 OF 6

BH




